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gdd 000000 zyyUOooo 0000 2=24+w000000. z,y 0
0000 20 OO (real part),d O (imaginary partd 0 0,z = Re(z),y = Im(z) O
0o.

(1) i 0000o0ooon.

(2) 200000 2, =2, +iy1, 29 = ¥ + i, 00,0,00
21 x 2= (v £ xg) +i(ys £yo), 21022 = (1122 — Y1ve) + i(T1y2 + T2t1),
00000.0000 2/000,000 a1,4,22,5.000000.

) O000 z=2x+iy000000D000000 z—iy0d 2000000 (complex
conjugate] 00 ,zO00O0O.000000000O0OOCOODDOOODO.

(21 22) =71 - 72, 217/22:71/72 (22 #0).

4 000 z=2+4 0000 |20 Ve?2+2000000.0000000 2
Uobio0 z,000,00000000000000.

|21+ 20| < |z1|+ |22| (CODOODO)

(5) 000 nOO00O 21,2, -2 000,00000000000000.

|21 4+ 20+ -+ 2| <z 22|+ + 20 (1.1)
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at o= (a)” o at (at)?

n=0

0000000000000.0000=1000.000 e« 00000000
gooood,

gooogo.
Ugdbb 000D OOoOoonoobooon.

Q) ooooooo
e = cosy +isiny 1.2

gogoboobob.body0booboo.
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000 z=a2+iy(r,y000)000000,000000000 0000 (complex
plane)J 000 1000000000.0000

z=r(cosf +isinh) = re?, (2.3)

gooob.o0bobudoo bbb gob.0obbboooobobbuoooo
O0D0.000 r=|zl=+va?2+9%600 000 (argumentd 000,60 =arg O
ogooao.

1) 0000000000000 00,arge00000D0ODOODO.
(2) 000000000000
i, =i, 1—d, 143
(3) 000000000
(cosf + isinf)" = cosnf + isinnd, (1.4)
goooooboobn.

4) =10000000,0000000000000.
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(1) cos(0; £ 63) = cos by cos By F sin Oy sin Oy
(2) sin(0y £ 63) = cos by sin by + sin Oy cos b,
(3) cos 26 = cos? — sin? 0

(4) sin20 = 2sin 6 cos 6
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(1) |2 -3/ =1

@1<2/<3

(3) [1/2] <1

(4) arg: = —7/6

5) Re <1

(6)

@) |z =2/ +]z+2/ <3
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z+1
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a,3,v600000000000000.

(1) 20 «,400000000000.

2) o,pO000000~o0000C00DOOODOOODOOOOD,000O

m® =" _o re* =Y _y,
) )
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(3) 30 o,3,y00000O000ODO.

(4) 40 o,8,4,60000000000000000CO0.
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